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BACHELOR’S DEGREE PROGRAMME

Term-End Examination
December, 2013

ELECTIVE COURSE : COMMERCE

"ECO-13 : BUSINESS ENVIRONMENT

Time : 2 hours Maximum Marks : 50

(Weightage 70%)

Note : Attempt both parts A and B.

PART-A (compulsory)

1.  Attempt any four of the following questions : 5+5+5+5

()

(b)

(©)
(d)

(e)

(f)
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“The business environment is highly
dynamic.” Elaborate .

What are the ecological issues related to
business ?

Outline the consumer rights.

“New industrial policy has heralded a new
approach to the public enterprises.” Explain.

Elaborate the concept of workers’
participation in management.

Describe briefly the characteristics of foreign
direct investment.
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PART-B

Attempt any three questions from this section.

How do technology and social change affect 5+5
business ? Explain.

How has the role of the government in regulating 19
the business been made more productive and

meaningful ? Explain briefly.

What is meant by privatisation of the business ?
Outline arguments in its favour and state the steps

taken towards privatisation in India. 24543
Describe the causes of industrial sickness in India. 10

Describe briefly various programmes launched for 10

promoting small-scale industry in India.

Explain the role of foreign capital in the economic 7+3
development of a country. What are its
shortcomings ?

Discuss the functions of WTO. How has it helped 5+5

in globalisation of business ?
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FTdeh SUTY shTdehd
wATa e
feamax, 2013
Ufegs UgaswH : sy
3.H1.3M.-13 : SAEEIas. Taiau

qayg : 2 gue SfHad 3% : 50
(T &HT : 70% )
FiT: T YT A 9T B & ¥ & [1Q9JER IR felEayq
W - A ( 3rfam )

1. fr=fafed § 9 fesl o) 9ol & S faf@u ;. 5+5+5+5

(@) ‘'AEHIES TAERu e TarHsE 71 fawR
I |

(b) =aEE HaH gRfEafas 98 (ecological issues)
FNE?

(c) UM ATHHR H SocT@ I |

(d) ‘7% M HAifa 7 gt T & fau
T g W SR e 71" =men it

() ‘wau T gfHenl i WS’ 1 HehedHl s =A@
FHIfT |

(f) foce yoaer frarer (FDI) &1 fasioaieti o1 Seeid
IS |
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I - B
Y 9F & fahgl a7 93l & S fafay |

Wenfiren! 9un g 9iedT a9 &) {69 YR 545
guifad 3d € ? SR Shifeg |

Zga/E &l fafafhd w6 4 TR & ffis s fsw 10
YR e e T qiefer s T 8 2 999 o
RAT Hifog |

I ¥ FISH0 & 31 9 82 39 % v § 9%
difste, qen wa 9 fsitentor & fag 3ame T fafy=
Hehl H S hifed | 2+5+3

YRA H feNfiTer TOIaT & RO 19U HIfeT | 10

YRd ¥ Bl M & &AM & Hadd & fau 3% fFe 10
e fafy= Sl &1 9uF Sifse)

Tah W & e faera A faeft gt ) ufgest &t 743
AT ST 3T I HIHAT 1 91 Ieoi@ HITST |

faea SR G861 (WTO) & &R &1 Ie0i@ HIST 545
TH 1 Fa9E &) {6y YR favasardt s ? saren
Hifsa |
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